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P - II (1+1+1) G / 20 (N)

2020

BOTANY (General)
Paper Code : BOTG - V - A & B

[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.



Page : 2 of 12



Page : 3 of 12

Paper Code : BOTG - V - A
Full Marks : 16 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. Which one of the following will not directly affect transpiration?

(A) Temperature

(B) Light

(C) Wind speed

(D) Chlorophyll Content of leaves

1Ð !˜Á¬!œ!…“þ ö„þy˜ !î¡ìëû!Ýþ îyÜ™öì›y‰þöì̃ îû çþ™îû ²Ì“þÄÇþ¦þyöìî ö„þyöì̃ y ²Ì¦þyî öšþöìœ ˜y Ú

(A) “þyþ™›yey

(B) xyöìœy

(C) îyëû% ²Ìîyöì£îû †!“þ

(D) þ™öìe vþzþ™!ßþi“þ ö„Ïþyöìîûy!šþœ

2. The external solution having more concentration than that of the cell sap is
called —

(A) Hypertonic solution

(B) Isotonic solution

(C) Hypotonic solution

(D) Neutral solution

2Ð ö„þyöì¡ìîû îy£zöìîûîû oîöì’îû ‡˜c ö„þy¡ì#ëû oîöì’îû “%þœ˜yëû x!•„þ £öìœ “þy £œ éôôôé

(A) £y£zþ™yîûÝþ!˜„þ oî’

(B) xy£zöì¢yÝþ!˜„þ oî’

(C) £y£zöìþ™yÝþ!˜„þ oî’

(D) !˜vþzÝþÆyœ oî’
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3. Which one of the following is a synthetic auxin?

(A) Indole-3-acetic acid

(B) Indole-3-butyric acid

(C) Phenyl acetic acid

(D) 2,4-Dichlorophenoxyacetic acid

3Ð !˜Á¬!œ!…“þ ö„þy˜!Ýþ „,þ!e› x!:˜Ú

(A) £z̃ öìvþyœéôé3éôéxÄy!¢!Ýþ„þ xÄy!¢vþ

(B) £z̃ öìvþyœéôé3éôé!îvþzÝþy£z!îû„þ xÄy!¢vþ

(C) !šþ˜y£zœ xÄy!¢!Ýþ„þ xÄy!¢vþ

(D) 2– 4éôévþy£zöì„Ïþyöìîûyöìšþ˜!:xÄy!¢!Ýþ„þ xÄy!¢vþ

4. The first acceptor of CO2 in CAM plants —

(A) Aspartic acid

(B) Malic acid

(C) Oxaloacetic acid

(D) Phosphoenolpyruvate

4Ð CAM vþz!qöì”îû öÇþöìe CO2éôé~îû ¢îÅ²Ìí› @ùÌy£„þ £œ éôôôé

(A) xÄy¢þ™yîû!Ýþ„þ xÄy!¢vþ

(B) ›Äy!œ„þ xÄy!¢vþ

(C) x:yöìœyxÄy!¢!Ýþ„þ xÄy!¢vþ

(D) šþ¢öìšþy~˜œ þ™y£zîû&öì¦þÝþ

5. The core metal of chlorophyll molecule is —

(A) Ni

(B) Cu

(C) Fe

(D) Mg
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5Ð ö„Ïþyöìîûy!šþœ x’%öì“þ ö„þy ä̃ •y“þî îlßþ íyöì„þ éôôôé

(A) !˜öì„þœ

(B) „þþ™yîû

(C) xyëûîû˜

(D) ›Äy†öì̃ !¢ëûy›

6. Oxygen is attached to RuBP during —
(A) C3 pathway
(B) C4 pathway
(C) C2 Pathway
(D) CAM pathway

6Ð RuBPéôé~îû ¢yöìí x!:öì‹˜éôé~îû ¢‚îõþ˜ £ëû ö„þy ä̃ ²Ì!e«ëûy ‰þœy„þyœ#˜ éôôôé

(A) C3 ‰þe«

(B) C4 ‰þe«

(C) C2 ‰þe«

(D) CAM ‰þe«

7. Reduction of NADP+ occurs in —
(A) Cyclic photophosphorylation
(B) Non-cyclic photophosphorylation
(C) Oxidative photophosphorylation
(D) None of the above

7Ð NADP+ ôé~îû !î‹yîû’ ‡öìÝþ öë þ™kþ!“þöì“þé ôôôé

(A) ‰þe«y„þyîû šþöìÝþyšþ¢öìšþyîûy£zöìœŸ˜

(B) x‰þe«y„þyîû šþöìÝþyšþ¢öìšþyîûy£zöìœŸ˜

(C) x!:öìvþ!Ýþ¦þ šþöìÝþyšþ¢öìšþyîûy£zöìœŸ˜

(D) çþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëûÐ
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8. Which of the following is known as “stress hormone” ?
(A) IAA
(B) ABA
(C) Gibberellins
(D) Ethylene

8Ð !˜Á¬!œ!…“þ ö„þy˜ î,!kþ !˜ëûsþf„þ òòößþTÉ¢ £îûöì›y˜óó ˜yöì› þ™!îû!‰þ“þÚ

(A) IAA

(B) ABA

(C) !‹öìî¹öìîû!œ˜

(D) £z!í!œ˜

9. Where do the light-independent reactions of photosynthesis occur ?
(A) Thylakoid outer membrane
(B) Thylakoid lumen
(C) Stroma
(D) Grana

9Ð ¢yöìœy„þ¢‚öìÙÕöì¡ìîû xyöìœy„þ !˜îûöìþ™Çþ ”Ÿyîû !î!e«ëûy=!œ ¢Á™§¬ £ëûéôôôéé

(A) íy£zœy„þöìëûvþ î!£ƒþ™”Åyëû

(B) íy£zœy„þöìëûvþ œ%öì›˜éôé~

(C) ößþTÉy›yôé~

(D) @ùÌy˜yéôé~

10. What is the end product of glycolysis ?
(A) Acetyl CoA
(B) Pyruvic Acid
(C) Glucose-1-phosphate
(D) Fructose-1-phosphate
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10Ð @Õy£zöì„þyœy£z!¢öì¢îû ¢îÅöìŸ¡ì vþzêþ™§¬ þ™”yíÅ £œ éôôôé

(A) xÄy!¢Ýþy£zœ ö„þyéôé~

(B) þ™y£zîû&!¦þ„þ xÄy!¢vþ

(C) @Õ%öì„þy‹éôé1éôéšþ¢öìšþÝþ

(D) šÊ%þ„þöìÝþy‹éôé1éôéšþ¢öìšþÝþ

11. Which one of the following amino acids is also called imino acid ?

(A) Alanine

(B) Glycine

(C) Proline

(D) Serine

11Ð !˜Á¬!œ!…“þ ö„þy˜ xÄy›y£zöì̃ y xÄy!¢vþ ö„þ £z!›öì̃ y xÄy!¢vþç îœy £ëûÚ

(A) xÄyœy!˜˜

(B) @Õy£z!¢˜

(C) ö²Ìy!œ˜

(D) ö¢!îû˜

12. Which of the following is an example of unsaturated fatty acid ?

(A) Lauric acid

(B) Linoleic acid

(C) Palmitic acid

(D) Myristic acid
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12Ð !˜Á¬!œ!…“þ ö„þy˜!Ýþ x¢Á™,_« šþÄy!Ýþ xÄy!¢vþ ~îû vþz”y£îû’ Ú

(A) œ!îû„þ xÄy!¢vþ

(B) !œöì̃ yöìœ£z„þ xÄy!¢vþ

(C) þ™yœ!›!Ýþ„þ xÄy!¢vþ

(D) ›y£z!îû¢!Ýþ„þ xÄy!¢vþ

13. The protein part of enzyme is —

(A) Prosthetic group

(B) Apoenzyme

(C) Holoenzyme

(D) Zymogen

13Ð vþzêöì¢‰þöì„þîû ö²Ìy!Ýþ˜•›#Å x‚Ÿöì„þ îöìœ éôôôé

(A) ²Ìöìßþi!Ýþ„þ @ùÌ&þ™

(B) xÄyöìþ™y~˜‹y£z›

(C) £öìœy~˜‹y£z›

(D) ‹y£zöì›yöì‹˜

14. Nitrosomonas and Nitrobacter convert—

(A) Carbon dioxide to carbohydrate

(B) Ammonium ion to nitrate

(C) Nitrate ion into nitrogen molecule

(D) Nitrogen into nitrate
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14Ð Nitrosomonas ~î‚ Nitrobacter îû*þ™yhsþîû „þöìîûé ôôôé

(A) CO2 öíöì„þ „þyöìîÅy£y£zöìvÈþÝþ

(B) xÄyöì›y!˜ëûy› xyëû̃  öíöì„þ ˜y£zöìÝþÆÝþ

(C) ˜y£zöìÝþÆÝþ xyëû̃  öíöì„þ ˜y£zöìÝþÆyöì‹˜ ›!œ!„þvþzœ

(D) ˜y£zöìÝþÆyöì‹˜ öíöì„þ ˜y£zöìÝþÆÝþ

15. In which part of the cell oxidative phosphorylation takes place ?
(A) Inner mitochondrial membrane
(B) Outer mitochondrial membrane
(C) Grana of chloroplast
(D) Stroma of chloroplast

15Ð ö„þy¡ìy¦þÄhsþöìîû öë ßþiyöì̃  x!:öìvþ!Ýþ¦þ šþöìÝþy šþ¢öìšþyîûy£zöìœŸ˜ ¢‚‡!Ýþ“þ £ëû “þy £œ éôôôé

(A) ›y£zöìÝþy„þ˜!vÈþëûyîû xhsþƒþ™”Åy

(B) ›y£zöìÝþy„þ˜!vÈþëûyîû î!£ƒþ™”Åy

(C) ö„Ïþyöìîûy²ÕyöìÞÝþîû @ùÌy˜y

(D) ö„Ïþyöìîûy²ÕyöìÞÝþîû ößþTÉy›y

16.  is a Long-Day-Plant.
(A) Raphanus sativus
(B) Chrysanthemum morifolium
(C) Helianthus annuus
(D) Coffea arabica

16Ð  £œ ~„þ!Ýþ ”#‡Åéôé!”îy vþz!q”Ð
(A) Raphanus sativus
(B) Chrysanthemum morifolium
(C) Helianthus annuus
(D) Coffea arabica
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P - II (1+1+1) G / 20 (N)

2020

BOTANY (General)
Paper Code : BOTG - V - B

[New Syllabus]

Full Marks : 34 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Group - A

1. Answer any one question from the following : 9×1=9

(i) Give an example of CAM plant. Discuss the mechanism of CAM pathway
with suitable diagram. Write down the significance of photorespiration.

1+6+2

(ii) Name the fungus from which gibberellin was discovered. Briefly explain
the physiological role of Ethylene and Cytokinins. 1+(4+4)

2. Answer any two questions from the following : 4×2=8

(i) How does Calvin cycle differ from Hatch-Slack pathway of carbon fixation?

(ii) Explain the mechanism of ascent of sap in higher plants in view of
cohesion-tension theory.

(iii) What is critical day length? Name one Day-Neutral-Plant. State the
difference between Photoperiodism and Vernalization. 1+1+2

(iv) What is seed dormancy? Briefly explain the artificial methods of breaking
seed dormancy. 1+3
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Group - B

1. Answer any two questions from the following : 6×2=12

(i) Diagrammatically represent tricarboxylic acid cycle with special mention to
the major enzymes involved. What is P/O ratio ?                     5+1

(ii) Write brief notes on the following : 3+3

(a) Van der Waals interactions

(b) Lock and Key hypothesis

(iii) Differentiate between glycosidic bond and peptide bond. Briefly explain
the secondary structures of protein. Name one aromatic amino acid.

2+3+1

(iv) Define Nitrification with relevant reactions. What is leghaemoglobin ? Write
a short note on the process of nodule formation. 2+1+3

2. Answer any one question from the following : 5×1=5

(i) Briefly explain the importance of Pharmacognosy in modern science.

(ii) Write down the source, chemical nature and uses of any one of the
following : 1+1+3

(a) Reserpine

(b) Catechin

îDy %̃îy”

!î¦þy† éôé „þ

1. !˜Á¬!œ!…“þ öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 9×1=9

(i) ~„þ!Ýþ CAM vþz!qöì”îû vþz”y£îû’ ”yçÐ ëíyíÅ !‰þe ¢£öìëyöì† CAM pathway-~îû
•yþ™=!œ î’Å̃ y „þîûÐ xyöìœy„þÙ»¢ì̃ éôé~îû “þyêþ™ëÅ öœ…Ð 1+6+2

(ii) ¢îÅ²Ìí› ö„þy˜ä Šéey„þ öíöì„þ !‹öìî¹öìîû!œ˜ !˜ëÅy!¢“þ £ëûÚ ¢‚öìÇþöìþ™ £z!í!œ˜ ~î‚
¢y£zöìÝþy„þy£z!˜˜éôé~îû Ÿyîû#îûî,!_ëûû ¦)þ!›„þy vþzöìÍÔ… „þîûÐ 1+S4+4V
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2. !˜Á¬!œ!…“þ öë ö„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­é 4×2=8

(i) ö„þœ!¦þ˜ ‰þe« ~î‚ Hatch-Stack „þyîÅ̃  ¢‚îõþ˜ þ™kþ!“þîû ›öì•Ä þ™yíÅ„þÄ !˜îû*þ™’ „þîûÐ

(ii) ö„þyöì£Ÿy˜éôéöÝþ˜Ÿ˜ ¢)e myîûy vþz!qöì”îû ‹œ ¢‚î£˜ þ™kþ!“þ !îî,“þ „þîûÐ

(iii) é¢!õþ„þyœ#˜ !”îyéôé÷ì”‡ÅÄ „þyöì„þ îöìœÚ ~„þ!Ýþ !”îyéôé!˜îûöìþ™Çþ vþz!qöì”îû vþz”y£îû’ ”yçÐ
xyöìœy„þþ™ëÅyî,!_ ~î‚ îy¢hsþ#„þîû’éôé~îû þ™yíÅ„þÄ ö”…yçÐ 1+1+2

(iv) î#öì‹îû ¢%®yîßþiy „þyöì„þ îöìœÚ î#öì‹îû ¢%®yîßþiy ¦þyˆyîû „,þ!e› þ™kþ!“þ=!œ öœ…Ð
1+3

!î¦þy† éôé …

1. !˜Á¬!œ!…“þ öë ö„þyöì̃ y ”%£z!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 6×2=12

(i) ëíyíÅ !‰þe ~î‚ !˜!”ÅÜT •yöìþ™ vþzþ™!ßþi“þ =îû&cþ™)’Å vþzêöì¢‰þ„þ=!œîû ˜y› ¢£öìëyöì† ÝþÆy£z
„þyîÅ!:!œ„þ xÄy!¢vþ ‰þe«éôé~îû î’Å̃ y ”yçÐ P/O x %̃þ™y“þ !„þÚ 5+1

(ii) !˜Á¬!œ!…“þ !î¡ìëû=!œîû çþ™öìîû ¢‚!Çþ® Ýþ#„þy öœ… ­ 3+3

(a) “Van der Waals interactions”

(b) òò“þyœy ç ‰þy!î ›“þîy”óó

(iii) @Õy£zöì„þy¢y£z!vþ„þ îõþ˜ ~î‚ öþ™þ™Ýþy£zvþ îõþöì˜îû ›öì•Ä þ™yíÅ„þÄ öœ…Ð ¢‚öìÇþöìþ™
ö²Ìy!Ýþ˜éôé~îû ö†ï’ SsecondaryV †àþ˜ !îî,“þ „þîûÐ ~„þ!Ýþ aromatic amino acid-
~îû vþz”y£îû’ ”yçÐ 2+3+1

(iv) vþzþ™ë%_« !î!e«ëûy ¢£öìëyöì† ˜y£z!ÝþÆ!šþöì„þŸ˜éôé~îû ¢‚Kþy ”yçÐ öœ†!£öì›yöì@Õy!î˜ !„þÚ xî%Å”
¢,!ÜTîû þ™kþ!“þ !îî,“þ „þîûÐ 2+1+3

2. !˜Á¬!œ!…“þ öë ö„þyöì̃ y ~„þ!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ­é 5×1=5

(i) xy•%!˜„þ è¡ì•Ÿyöìßþf òòPharmacognosyóóéôé~îû =îû&c öœ…Ð

(ii) !˜Á¬!œ!…“þ öë ö„þyöì̃ y ~„þ!Ýþîû vþzê¢– îûy¢yëû!˜„þ •›Å ~î‚ îÄî£yîû öœ… ­þ 1+1+3

(a) öîû¢yîû!þ™˜

(b) „þÄyöìÝþ!„þ˜


